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[18~24 X 5]
1 =2F B8 7o B 24.66
2 it 8K EE 26.50
3 & EA B 26.72
4 B BEX fE I 27.00
5 | S o & 8% 27.88
6 #]BAR LXK fit] W5 29.06
7 Pk -8 KER 30.66
8 BE B NEHE 31.03
9 5K A PN 35.70
[25~29% X %)
1 'R F KRR 25.19
2 EiR B KR 27.34
3 B+ EAKER e 27.91
4 =8 E=X fit] 55 32.38
[30~34 X 45)
1 w4 X EE 26.48
2 T E% fiE] W55 27.15
3 W B2 —%t 27.54
4 xXF & A& 27.54
5 AR B NEE 27.75
6 s B AE 28.16
7 Kl 7 KRR 28.23
8 JH K AR 29.07
9 18 & S 29.54
10 ERK £17 e 30.59
11 INIT KHE KEIR 36.10
12 BAX £ FE 38.73
[35~39% X %)
1 FigE F17 R 26.46
2 WA Kt BEMNE 27.61
3 HH BE& A 28.83
4 RRR —5F 5PN 29.25
5 rH E#f =)= 29.86
6 L7 K& 7o B 30.78
7 R 2= =)= 40.43
[40~44 K 5]
1 B X fE I 28.66
2 izl N KR 29.31
3 TR L& R 30.85
4 wlE ZEih NEHE 32.16
5 =& BBX EE 3257
6 Al EiE KEIR 32.76
7 sl =/ —%t 33.94
8 s 5= HigE 37.88
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[45~49% X 5]
1 R RE F/:T 28.76
2 He =B S 31.16
3 5H ikt K 31.33
4 AH BB K 32.28
5 SHl KiE HE 32.37
6 Y BAF fit] W55 32.54
7 ik FA HEER 32.72
8 HAR ®£A EE 34.83
9 AR x NEE 35.19
10 mf B— HIgE 39.64
[50~54m% X %)
1 B BE HwE 30.35
2 “HiE BA AHgE 32.51
3 iR mE fE I 36.70
4 FH B fE I 37.21
5 H£H fi— T 37.94
6 AIfE BE HE 38.02
7 = #X HIE 38.32
8 M IEA 7—k 45.33
[55~59% X 53]
1 IR BB —%t 32.13
2 JIURE %0 F/iT 33.73
[60~645% X %5]
1 BEH EX BEMNE 37.79
[65~697% X %)
1 nKR —Z B 39.55
2 = ZE o & B 41.82
3 ER £ e 41.98
4 Bl E= A& 42.05
5 AHE FE A= 45.66
[70~74E X %)
1 a8 == 70 2% 5% 42.76
[75~75m X %)
1 =+ 5AEA F/:T 48.02
2 KT 4 UER HEE 50.51
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